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You have five different fractions > % 5% and four different operations +. —, X, + at your disposal.
You must use each fraction and each operation once and only once. You may use as many brackets as
you need. Here is your challenge:
a Produce an expression with the smallest possible positive answer.
b Produce an expression with an answer of 1 or as close to 1 as possible.
¢ Produce an expression with the largest possible answer.

An example of an expression using each of the five fractions and four operations is

1

1 + 1 - 1 X =+ 1 This has an answerofl.
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